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XC6405

|
EN/CE
VROUT OUT VSEN/Cd VDOUT
5] [4] 6 [E
(3]
VIN VSS EN/CE 0
VSEN/Cd VIN  VSS VROUT
SOT-25(TOP VIEW) SOT-89-5(TOP VIEW)
[ |
SOT-25 SOT-89-5
1 1 VIN
2 2 Vss
3 5 EN VR ON/OFF
3 5 CE ON / OFF
3 5 VSEN VD
3 5 Cd
4 4 VDouTt VD
5 3 VRout VR
[ |
o
1 VD
XC6405A VD
XC6405B VD
XC6405C ~ F VD
2.
XC6405A ~C VR
XC6405D
XC6405E,F
3.CE/EN *:
CE
XC6405*A~D High Active  Pull Down
XC6405 * E ~ K High Active  Pull Down
XC6405*L~P Low Active Pull Up
XC6405*R ~U Low Active Pull Up
4. VD *: A~D F)
(VD )
XC6405*A B E F L M R S V X VIN
XC6405*C D H K NP TUY Z Vout
XC6405EV ~Z VSEN
5.VvD
VD
XC6405A ~ F Detect L or Detect H
6. VD
XC6405A ~ E
XC6405F Cd
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XC6405

|
e
XC6405 - b
A EN
B EN VD VR OFF
C :EN
D :CE
E : VSEN
F : Cd
01
VR :0.9V~5.1V
) £ 0.9V ~5.5V
0.1v
MR : SOT-25
MR-G - SOT-25 ( )
) ¢2) PR - SOT-89-5
PR-G : SOT-89-5 ( )
(*1) 7-G” EU RoHS
(*2)
( R- L-)
L)
EN/CE EN/CE Pull UP/Down VD VD
A High Active Pull-down VIN Detect L
B High Active Pull-down VIN Detect H
C High Active Pull-down VRout Detect L
D High Active Pull-down VRouT Detect H
E High Active VIN Detect L
F High Active VIN Detect H
H High Active VRout Detect L
K High Active VRout Detect H A~D
L Low Active Pull-up VIN Detect L
M Low Active Pull-up VIN Detect H
N Low Active Pull-up VRout Detect L
P Low Active Pull-up VRouTt Detect H
R Low Active VIN Detect L
S Low Active VIN Detect H
T Low Active VRout Detect L
U Low Active VRout Detect H
\Y; - - VIN / VSEN Detect L E FE
X - - VIN / VSEN Detect H
Y - - VRout Detect L
4 - - VRout Detect H F
* XC6405A XC6405B XC6405C XC6405D XC6405E
TOIREX
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XC6405

|
e 80 99
VRout VDout VRout VDout VRout VDout VRout VDout
01 2.20 1.80 21 80 1.80 1.60
02 3.30 3.80 22 81 2.80 3.10
03 3.30 4.20 23 82 1.80 2.00
04 3.00 2.60 24 83 2.50 2.80
05 3.30 4.00 25 84 2.85 3.20
06 3.30 3.60 26 85 3.00 3.30
07 1.80 2.30 27 86 3.50 3.80
08 3.30 3.10 28 87 3.00 4.20
09 3.30 3.00 29 88 3.30 4.00
10 3.30 2.80 30 89
11 2.60 3.90 31 90
12 3.30 3.70 32 91
13 1.80 3.60 33 92
14 34 93
15 35 94
16 36 95
17 37 96
18 38 97
19 39 98
20 40 99
L 3
VRout VDout
XC6405CH80MR EN H VRout L 1.80 1.60
XC6405CE81IMR EN H ViN L 2.80 3.10
XC6405DE82MR CE H VIN L 1.80 2.00
XC6405DE83MR CE H VIN L 2.50 2.80
XC6405DE84MR CE H ViN L 2.85 3.20
XC6405DE85MR CE H ViN L 3.00 3.30
XC6405DE86MR CE H ViN L 3.50 3.80
XC6405FV87MR Cd VIN L 3.00 4.20
XC6405FV88MR Cd VIN L 3.30 4.00
XC6405DE8IMR CE H VIN L 1.20 2.00
XC6405DE9OMR CE H ViN L 1.30 2.00
XC6405DE91IMR CE H ViN L 1.50 2.00
15k
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XC6405

|
VIN 7.0 \%
VR VRIouT 700 mA
VR VRouTt Vss -0.3 ~ VIN +0.3 \%
VD VDlouTt 50 mA
VD VDout Vss-0.3~7.0 \
VcE / Vsen / Cd Vce/ Vsen/ Cd Vss -0.3 ~ VIN +0.3 \%
SOT-25 250
Pd mw
SOT-89-5 500
Topr -40~+85
Tstg -55~+125
|
@ XC6405 Ta=25
MIN. TYP. MAX.
VR 2.3 VRouT(E) IRoUT=30mA =<0.98 [VRouT(T)| ><1.02 \Y
V(Félg ~24v ) IROUTMAX VINEVROUT(T)+2.0V 400 - - mA
VR VIN=VRouT(T)+2.0V 00
25~49V ) IROUTMAX ™| VRout(T)=4.0v vin=e.ov | ° - ; mA
VR VRouTt 1mA IRout 100mA - 15 50 mVv
VR (4) vdifl IRouT=30mA E-1 mV
Vdif2 IRouT=100mMA E-2 mV
VIN=VEN=VRouT(T)+1.0V
(Pull-R ) Iob - 90 145 HA
VRout 0.9V  VIN=2.0V
VIN=VEN=VRouUT(T)+1.0V
(Pull-r ) IoD - 100 165 MA
VRout 0.9V  VIN=2.0V
VRouTt(T)+1.0V VIN 6.0V
VRoutr 0.9V 2.0V VIN 6.0V
VR __VRout - 001 | 020 | %/V
VIN VRouT IRouT=30mA
VRout 1.75V  IRouTt=10mA
VIN - 2.0 - 6.0 \% -
VR VRouT IRouT=30mA i +100 i ppm /
Topr VRouT -40  Topr 85 o
VIN=[VRouT(T)+1.0]V+0.5Vp-pAC
VRouT(T) 1.25V
VIN=2.25V+0.5Vp-pAC
VR PSRR - 65 - dB
VRout(T) 4.75V
VIN=5.75V+0.5Vp-pAC
IRouT=50mA, f=10kHz
VR .
IRlim VIN=VRouT(T)+2.0V - 600 - mA
(2.4v )
VR . VIN=VRouT(T)+2.0V )
2.5V ) IRlim VRoUT(T)= 4.0V viN=6.ov | 200 | 600 mA
VIN=VRouT(T)+2.0V ) )
VR IRshort |\ 2 our(T)= 4.0v VIN=6.0V 50 mA
TOIREX
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XC6405

|
® XC6405 Ta=25
MIN. TYP. MAX.
VD 7.8 VOF (E) =<0.98 | VDF (T)| ><1.02 \Y
VD 7 VHYS VoF (T) | Vor (T) | VDF (T) v
><0.02 | ><0.05 | =<0.08
VIN= 2.0V - 10.0 19.0
VIN = 3.0V - 12.0 20.0
VD IDpbvD VIN = 4.0V - 145 24.0 HA
VIN = 5.0V - 17.5 26.0
VIN = 6.0V - 19.0 29.0
VIN= 2.0V 3.0 6.0 -
VIN = 3.0V 4.0 8.0 -
VD 9 IDouT VDout = 0.5V VIN = 4.0V 5.0 10.0 - mA
VIN = 5.0V 7.0 12.0 -
VIN = 6.0V 10.0 15.0 -
VD __VoF -40 Topr 85 - =+100 - ppm /
Topr  VDF
pull-R
CE/EN““H”” VCE/EN H 1.60 - VIN \%
CE/EN““L>” VCE/EN L - - 0.25 \%
CE/EN““H~” ICE/EN H VCce/EN=VIN=VRouT(T)+1.0V -0.10 - 20 MA
CE/EN*““L>” ICE/EN L ViIN=VRouT(T)+1.0V, Vce/EN=Vss -0.10 - 0.10 MA
VIN=6.0V, Cd=0V
Delay Rdelay Delay ~6.0V/Delay 300 500 700 kQ
*1 (VIN=VouT(T)+1.0V)
*2 :VRouT(T) VR
*3 : VOUT(E) VR VDF(T) 1.5V E-0
IRouT (VRouT(1)+1.0V) VR
*4 :Vdif:{VlN1(”6)-VROUT1(*5)}
*5 : VRout1=IRout {VRouT(1)+1.0V} VR 98%
*6 :VIND Vouti
*7 : VDF(T)
*8 : VDF(E) VDF(T) 1.5V E-0
*9 VD Detect L Detect H
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XC6405

@ XC6405 AA/AD / AE | AH Ta=25

MIN. TYP. MAX.

VR (23 VRouUT(E) IRoUT=30mA =<0.98 |VRouT(T)| ><1.02 \Y
V(Fé 9~24v ) IROUTMAX VINEVROUT(T)+2.0V 400 - - mA
VR IROUTMAX VIN=VRouT(T)+2.0V 500 A
(25~49v ) out VRoUT(T)=4.0V VIN=6.0V - - m

VR VRouT 1mA IRouT 100mA - 15 50 mv

VR (4) Vdifl IRouT=30mA E-1 mV
Vdif2 IRouT=100mA E-2 mVv

- VIN=VEN=VRouT(T)+1.0V 90 145 A

(AA/AD ) VRouT 0.9V  VIN=2.0V H
- VIN=VEN=VRouT(T)+1.0V 100 165 A

(AE /A ) VRouT 0.9V  VIN=2.0V H

VRouT(T)+1.0V VIN 6.0V
VRouT VRout 0.9V 2.0V VIN 6.0V

VR - - 0.01 0.20 % /V
VIN  VRouT IRouT=30mA
VRout 1.75V  IRouTt=10mA
VIN 2.0 - 6.0 \% -
IRouT=30mA
VR __VRour - +100 - |ppm/
Topr VRout -40 Topr 85

VIN=[VRouT(T)+1.0]V+0.5Vp-pAC
VRout(T) 1.25V
VIN=2.25V+0.5Vp-pAC
VR PSRR - 65 - dB
VRout(T) 4.75V
VIN=5.75V+0.5Vp-pAC

IRouT=50mA, f=10kHz

(\éiv ) IRIlim VIN=VRouT(T)+2.0V - 600 - mA
(\éiv ) IRlim VROUTE{rl;‘:: ZTJ?/UT(T)QSYN:G.OV 500 | 600 ; mA
VR IRshort VROUTE{rl;‘:: ZTJ?/UT(T)QSYN:G.OV ” 50 ” mA
VD .8 VOF (E) >=<0.98 | VDF (T) | »<1.02 %
VD c8) VHYS VoF (T) | Vor (T) | VoF (T) v
=<0.02 | =<0.05 | ><0.08
VIN = 2.0V - 6.5 19.0
VIN = 3.0V - 7.0 20.0
VD 9 IDDVD VIN = 4.0V - 75 24.0 HA
VIN = 5.0V - 8.0 26.0
VIN = 6.0V - 9.0 29.0
VIN= 2.0V 3.0 6.0 -
VIN = 3.0V 4.0 8.0 -
VD (10 IDouT VDout = 0.5V VIN = 4.0V 5.0 10.0 - mA
VIN = 5.0V 7.0 12.0 -
VIN = 6.0V 10.0 15.0 -
VD __ VoF -40 Topr 85 - +100 - ppm /
Topr  VDF

TOIREX
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XC6405

|
®XC6405 AA/AD /AE/AH Ta=25
MIN. TYP. MAX.
EN““H~~ VEN H 1.60 - VIN \%
EN<<L"> VEN L - - 0.25 v
EN®*H"" IEN H VEN=VIN=VRouT(T)+1.0V -0.10 - 20 MA
(AAJAD ) ' '
EN-“H"" __
(AE/AH ) IEN H VEN=VIN=VRouT(T)+1.0V -0.10 - 0.10 MHA

EN<“L>” IEN L VIN=VRouT(T)+1.0V, VEN=VSS -0.10 - 0.10 MA

*1 (VIN=VouT(T)+1.0V)

*2 : VRouT(T) VR

*3 : VouT(E) VR VDF(T) 1.5V E-0

IRouT (VRouT(T)+1.0V) VR

*4 IVdifI{VINl(*G)-VROUTl(xS)}

*5 : VRout1=IRout {VRouT(T)+1.0V} VR 98%

*6 :VINL Vourt1

*7 :VDF(T)

*8 1 VDF(E) VDF(T) 1.5V E-0

*9 : VEN=Vss =VD

*10 :VD
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XC6405

|
®XC6405 CA/CD/CE/CH Ta=25
MIN. TYP. MAX.
VR 2.3) VRouT(E) IRoUT=30mA >=0.98 |VRout(T)| >=<1.02 v
V(Fé.9~2.4v ) IROUTMAX VIN=VRouT(T)+2.0V 400 - - mA
VR R VIN=VRouT(T)+2.0V A
(25~49v ) OUTMAX™ | VRouT(T)=4.0V vin=eov | °% - - m
VR VRouTt ImA IRout 100mA - 15 50 mV
VR 8 Vdifl IRoUT=30mA E-1 mv
Vdif2 IRouT=100mMA E-2 mV
| VIN=VEN=VRouT(T)+1.0V 90 145 A
DD -
(CA/CD ) VRout 0.9V  VIN=2.0V H
| VIN=VEN=VRouUT(T)+1.0V 100 165 A
DD -
(CE/CH ) VRout 0.9V  VIN=2.0V H

VRouT(T)+1.0V VIN 6.0V
VRouT VRout 0.9V 2.0V VIN 6.0V

VR - - 0.01 0.20 %V
VIN  VRouT IRouT=30mA
VRout 1.75V  IRout=10mA
VIN 2.0 - 6.0 \% -
IRouT=30mA
VR __VRour - =+100 - ppm /
Topr VRouTt -40 Topr 85

VIN=[VRouT(T)+1.0]V+0.5Vp-pAC
VRout(T) 1.25V
VIN=2.25V+0.5Vp-pAC
VR PSRR - 65 - dB
VRout(T) 4.75V
VIN=5.75V+0.5Vp-pAC

IRouT=50mA, f=10kHz

VR
2.4V ) IRIlim VIN=VRouT(T)+2.0V - 600 - mA
VR , VINEVROUT(T)+2.0V
@5V ) IRlim VRoUT(T)= 4.0V Vinee.oy | 590 | 600 - mA
VIN=VRouT(T)+2.0V
VR IRshort | yRour(T)= 4.0v VIN6.0V 50 mA
VD 8 VoF (E) =<0.98 |VDF (T)| =<1.02 | V
* VDF (T) | VDF (T) | VDF (T
VD (*8) VHYS ( ) ( ) ( ) v
><0.02 | ><0.05 | ><0.08
VIN= 2.0V - 6.5 19.0
VIN = 3.0V - 7.0 20.0
VD 9 IDovD ViN= 4.0V i s 240 LA
VIN = 5.0V - 8.0 26.0
VIN = 6.0V - 9.0 29.0
VIN = 2.0V 3.0 6.0 -
VIN = 3.0V 4.0 8.0 -
VD 0 IDouT VDour = 0.5V VIN = 4.0V 50 10.0 _ mA
VIN = 5.0V 7.0 12.0 -
VIN = 6.0V 10.0 15.0 -
VD S—LI- -40  Topr 85 - 24100 - ppm /
Topr  VDF

TOIREX
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XC6405

|
®XC6405 CA/CD/CE/CH Ta=25
MIN. TYP. MAX.
EN“<H>” VEN H 1.6 - VIN v
EN<<L"> VEN L - - 0.25 Y
EN®“H"" IENH VEN=VIN=VRouUT(T)+1.0V -0.10 - 20 MA
(CA/ICD ) ) )
EN-“H"" __
(CE/CH ) IENH VEN=VIN=VRouUT(T)+1.0V -0.10 - 0.10 HA

EN<“L>” IEN L VIN=VRouT(T)+1.0V, VEN=VSS -0.10 - 0.10 MA

*1 (VIN=VouT(T)+1.0V)

*2 : VRouT(T) VR

*3 : VouT(E) VR VDF(T) 1.5V E-0

IRouT (VRouT(T)+1.0V) VR

*4 IVdifI{VINl(*G)-VROUTl(xS)}

*5 : VRout1=IRout {VRouT(1)+1.0V} VR 98%

*6 :VINL Vourt1

*7 : VDF(T)

*8 : VDF(E) VDF(T) 1.5V E-0

*9 : VEN=Vss =VD

*10 :VD
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XC6405

[ |
@ XC6405 DA/ DD /DE/DH Ta=25
MIN. TYP. MAX.
VR 2.3) VRouT(E) IRoUT=30mA >=0.98 |VRout(T)| >=<1.02 Y,
V(%_g ~24V ) IRouTMAX VIN=VRouT(T)+2.0V 400 - - mA
VR R VIN=VRouUT(T)+2.0V 500 A
(25~49V ) OUTMAX | \/RouT(T)=4.0V VIN=6.0V : : m
VR VRout 1mA IRout 100mA - 15 50 mV
VR 4 Vdifl IRoUT=30mA E-1 mv
Vdif2 IRouT=100mA E-2 mV
DD VIN=Vce=VRouT(T)+1.0V %0 145 A
(DA/DD ) VRout 0.9V  VIN=2.0V i H
DD VIN=VcE=VRouT(T)+1.0V 100 165 A
(DE/DH ) VRouT 0.9V  VIN=2.0V | H
DD VIN=VRouT(T)+1.0V,Vce=0V 0.01 0.10 %IV
- . . (o]
(DA/DD/DE/DH ) VRout 0.9V  VIN=2.0V
VRouT(T)+1.0V VIN 6.0V
VR __VROUT | VRoutr 0.9V 2.0V VIN 6.0V 0.01 020 | %/v
- . . (1)
VIN - VRouT IROUT=30mA
VRout 1.75V  IRout=10mA
VIN 2.0 - 6.0 V -
VRout IRouT=30mA
VR — U . 41 .
Topr VRouT 40 Topr 85 00 ppm /
VIN=[VRoUT(T)+1.0]V+0.5Vp-pAC
VRout(T) 1.25V
VIN=2.25V+0.5Vp-pAC
VR PSRR - 65 - dB
VRouT(T) 4.75V
VIN=5.75V+0.5Vp-pAC
IRouT=50mA, f=10kHz
VR ] B
2.4V ) IRlim VIN=VRouT(T)+2.0V - 600 - mA
VR . VIN=VRouT(T)+2.0V
2.5V ) IRlim VROUT(T)= 4.0V vinse.ov | 000 | 600 - mA
VIN=VRouT(T)+2.0V
VR IRshort VRoUT(T)= 4.0V VIN=6.0V - 50 - mA
VD 8 VOF (E) ><0.98 | VDF (T)| x=<1.02 Vv
. VoF (T) | VoF (T) | Vor (T)
VD (*8)
VHYS ><0.02 | ><0.05 | ><0.08 v
VIN = 2.0V 3.0 6.0 -
VIN = 3.0V 4.0 8.0 -
VD 9 IDouT VDouT = 0.5V VIN = 4.0V 5.0 10.0 - mA
VIN = 5.0V 7.0 12.0 -
VIN = 6.0V 10.0 15.0 -
VDF
VD -40 Ta 85 - +100 - /
Topr VDF opr ppm
CE““H”” VCE H 1.6 - VIN \Y
CE*“L~~ VCE L - - 0.25 \Y
CE™"H™” IcEH Vce=VIN=VR T)+1.0V 0.10 20 A
(CAICD ) CE ce=VIN=VRouT(T)+1. -0. - M
CE=*H"" __
(CE/CH ) IcE H Vce=VIN=VRouT(T)+1.0V -0.10 - 0.10 HA
CE=“L>~ IcEL VIN=VRouT(T)+1.0V, Vce=Vss -0.10 - 0.10 HA
*1 (ViNn=VouT(m+1.0V)
*2  :VRout(m VR
*3  : VouTE) VR Vorm 1.5V E-0
IRouT (VRoutm+1.0V) VR
*4 IVdif:{VINl(*GJ—VROUTl(*s)}
*5 : VRouti=IRout {VRoutm+1.0V} VR 98%
*6 I ViINL VouT1
*7  : VDF(T)
*8 . VDFE) Vorm 1.5V E-O
*9 :VD
TOIREX
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XC6405

|
® XC6405 EV / EX Ta=25
MIN. TYP. MAX.
VR €23 VRoUT(E) IRoUT=30mA >=<0.98 |VROUT(T)| ><1.02 \Y
VR IROUTMAX VINEVROUT(T)+2.0V 400 ; ; mA
(09~24VvV )
VR N VIN=VRouT(T)+2.0V 500 A
(25~49V ) OUTMAX | VRouT(T)=4.0V VIN=6.0V . . m
VR VRout 1ImA [Rout 100mA - 15 50 mV
4 Vdifl IRouT=30mA E-1 mVv
VR
vdif2 IRoUT=100mA E-2 mV
VIN=VRouT(T)+1.0V,
(EV / EX IbD - 90 145 HA
VRout 0.9V  VIN=2.0V
VRouT(T)+1.0V VIN 6.0V
VRoutr 0.9V 2.0V VIN 6.0V
VR __VRoutr - 001 | 020 | %/V
VIN  VRourT| IRouT=30mA
VRout 1.75V  IRouTt=10mA
VIN 2.0 - 6.0 \% -
IRouT=30mA
VR __VRour | - =+100 - ppm /
Topr VRouTt -40 Topr 85
VIN=[VRouT(T)+1.0]V+0.5Vp-pAC
VRout(T) 1.25V
VIN=2.25V+0.5Vp-pAC
VR PSRR - 65 - dB
VRouTt(T) 4.75V
VIN=5.75V+0.5Vp-pAC
IRouT=50mA, f=10kHz
VR IRIi VIN=VR T)+2.0V, 600 A
2.4V ) im IN=VRouT(T)+2.0V, - - m
VR RIi VIN=VRouT(T)+2.0V 500 600 A
2.5V ) im VRouT(T)= 4.0V VIN=6.0V ) m
VIN=VRouT(T)+2.0V
VR - -
IRshort VROUT(T)= 4.0V VIN=6.0V 50 mA
VD VoF (E) ><0.98 | VDF (T)| =<1.02 v
VoF (T) | Vor (T) | Vor (T
VD VHYS M M (D \%
><0.02 | ><0.05 | >=<0.08
VIN = 2.0V 3.0 6.0 -
VIN = 3.0V 4.0 8.0 -
VD 9 IDouT VDout = 0.5V VIN = 4.0V 5.0 10.0 - mA
VIN = 5.0V 7.0 12.0 -
VIN = 6.0V 10.0 15.0 -
VD Vor/ 40  Topr 85 ; +100 - |ppm/
Topr  VDF
*1 (VIN=VouT(m)+1.0V)
*2 : VRouT(T) VR
*3 : VOUT(E) VR VborT) 1.5V E-0
IRouT (VRouTtm+1.0V) VR
*4 ZVdifZ{VINl(ke)-VROUTl(*S)}
*5 : VRouTt1=IRout {VRoutm+1.0V} VR 98%
*6 : VINL VouT1
*7 : V/DF(T)
*8 : VDF(E) Vbr(T) 1.5V E-0
*9 : VD
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XC6405

|
®XC6405 FV/FX/FY /I FzZ Ta=25
MIN. TYP. MAX.
VR 23 VRouT(E) IROUT=30mA >=<0.98 [VRouT(T)| >=<1.02 v
Vg_g ~24V ) IRouTMAX VIN=VRouT(T)+2.0V 400 - - mA
VR R VIN=VRouT(T)+2.0V 500 A
(25~49V ) OUTMAX | VRouT(T)= 4.0V VIN=6.0V i i m
VR VRout 1ImA [Rout 100mA - 15 50 mV
o4 Vdifl IRouT=30mA E-1 mV
VR
Vdif2 IRouT=100mMA E-2 mV
VIN=VRouT(T)+1.0V
(FV/FXIFY/FzZ oo VRouT 0.9V  VIN=2.0V ) %0 145 HA
VRouTt(T)+1.0V VIN 6.0V
VRout 0.9V 2.0V VIN 6.0V
VR __VRour - 001 | 020 | %/V
VIN  VRouT IRouT=30mA
VRout 1.75V  IRout=10mA
VIN 2.0 - 6.0 \% -
IRouT=30mA
VR —VRour ovT=shm - +100 - |ppm/
Topr VRout -40 Topr 85
VIN=[VRouT(T)+1.0]V+0.5Vp-pAC
VRout(T) 1.25V
VIN=2.25V+0.5Vp-pAC
VR PSRR - 65 - dB
VRout(T) 4.75V
VIN=5.75V+0.5Vp-pAC
IRouT=50mA, f=10kHz
VR .
2.4V ) IRlim VIN=VRouT(T)+2.0V - 600 - mA
VR IRIi VIN=VRouT(T)+2.0V 500 600 A
(2.5v ) m VROUT(T)= 4.0V VIN=6.0V ) m
IRshort VIN=VRouT(T)+2.0V 50 A
VR shor VROUT(T)= 4.0V ViN=6.OVV | ; m
VD 7.8 VoF (E) >0.98 | VDF (T) | =<1.02 v
. VorF (T) | Vor (T) | VoF (T
VD €8 VHYS (M (M (D v
>=<0.02 | ><0.05 | ><0.08
VIN = 2.0V 3.0 6.0 -
VIN = 3.0V 4.0 8.0 -
VD 9 IDouT VDout = 0.5V VIN = 4.0V 5.0 10.0 - mA
VIN = 5.0V 7.0 12.0 -
VIN = 6.0V 10.0 15.0 -
VD VoF 40 Topr 85 - +100 - |ppm/
Topr  VDF
VIN=6.0V, Cd=0V
Delay Rdelay 300 500 700 kQ
Delay =6.0V/Delay
: IN=VouT(T)+1.
*1 VIN=V 1.0V
*2 : VRouT(T) VR
*3 : VouT(E) VR VDF(T) 1.5V E-0
ouT ouT(T)+1.
IR VR 1.0 VR
*4  vdif={ViNne“®-VRouT1"®}
*5 : VRout1=IRout {VRouTt(1)+1.0V} VR 98%
*6 @ VINL VouT1
*7 : VDF(T)
*8 : VDF(E) VDF(T) 1.5V E-0
*9 : VD
TOIREX
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XC6405

[ J
E-0 E-1 E-1
1 (mV) 2 (mV)
(lout=30mA) (lout=100mA)
V) Ta=25 Ta=25
VRouT(T) VRouT / VDF Vdifl Vdifl Vdif2 Vdif2
VDF(T) MIN. MAX. TYP. MAX. TYP. MAX.
0.90 0.870 0.930 1050 1100 1150 1200
1.00 0.970 1.030 1000 1100 1050 1200
1.10 1.070 1.130 900 1000 950 1100
1.20 1.170 1.230 800 900 850 1000
1.30 1.270 1.330 700 800 750 900
1.40 1.370 1.430 600 700 650 800
1.50 1.470 1.530 500 600 550 700
1.60 1.568 1.632 400 500 500 600
1.70 1.666 1.734 300 400 400 500
1.80 1.764 1.836 200 300 300 400
1.90 1.862 1.938 120 150 280 380
2.00 1.960 2.040 80 120 240 350
2.10 2.058 2.142 80 120 240 330
2.20 2.156 2.244 80 120 240 330
2.30 2.254 2.346 80 120 240 310
2.40 2.352 2.448 80 120 240 310
2.50 2.450 2.550 70 100 220 290
2.60 2.548 2.652 70 100 220 290
2.70 2.646 2.754 70 100 220 290
2.80 2.744 2.856 70 100 220 270
2.90 2.842 2.958 70 100 220 270
3.00 2.940 3.060 60 90 200 270
3.10 3.038 3.162 60 90 200 250
3.20 3.136 3.264 60 90 200 250
3.30 3.234 3.366 60 90 200 250
3.40 3.332 3.468 60 90 200 250
3.50 3.430 3.570 60 90 200 250
3.60 3.528 3.672 60 90 200 250
3.70 3.626 3.774 60 90 200 250
3.80 3.724 3.876 60 90 200 250
3.90 3.822 3.978 60 90 200 250
4.00 3.920 4.080 60 80 180 230
4.10 4.018 4.182 60 80 180 230
4.20 4.116 4.284 60 80 180 230
4.30 4.214 4.386 60 80 180 230
4.40 4.312 4.488 60 80 180 230
4.50 4.410 4.590 60 80 180 230
4.60 4.508 4.692 60 80 180 230
4.70 4.606 4.794 60 80 180 230
4.80 4.704 4.896 60 80 180 230
4.90 4.802 4.998 60 80 180 230
5.00 4.900 5.100 50 70 160 210
5.10 4.998 5.202 50 70 160 210
5.20 5.096 5.304
5.30 5.194 5.406
5.40 5.292 5.508
5.50 5.390 5.610
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XC6405

XC6405A~C
L 2
@ CiN=LpIF
( )
VIN @ .
XC6405D
CiN=1paF
( )
VIN @
XC6405E
CiN=1pF
( )
VIN
XC6405F
VRout 0.9 ~1.2Vv 1.3~1.7V 1.8V ~5.1V
CL 4 7F 2.2MF 1.0pF

TOIREX
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XC6405

XC6405A~C

XC6405D

XC6405E

XC6405F

16/55



XC6405

XC6405A~C

VROUT 1.25V
VIN={2.25V}VDC
+0.5Vp-pAC

VIN={VROUT+1.0V}VDC
+0.5Vp-pAC

VROUT 4.75V
VIN={5.75V}VDC
+0.5Vp-pAC

XC6405D

VROUT 1.25V
VIN={2.25V}VDC
+0.5Vp-pAC

VIN={VROUT+1.0V}VDC
+0.5Vp-pAC

VROUT 4.75V
VIN={5.75V}VDC
+0.5Vp-pAC

XC6405E

VROUT 1.25V
VIN={2.25V}VDC
+0.5Vp-pAC

VIN={VROUT+1.0V}VDC
+0.5Vp-pAC

VROUT 4.75V
VIN={5.75V}VDC
+0.5Vp-pAC

XC6405F

VROUT 0.9V
VIN={2.0V}VDC
+0.5Vp-pAC

VIN={VROUT+1.0V}VDC
+0.5Vp-pAC

o

)
- \D l IRout 50mMA

,

W,

v,

L @ %l IRout 50mMA

VROUT 4.75V
VIN={5.75V}VDC ; * o
+0.5Vp-pAC
VRout 0.9~1.2v 1.3~1.7V 1.8V ~5.1V
CL 4. 7AF 2.2nF 1.0pF

TOIREX
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XC6405

XC6405A ~ C
[VD , VIN

VN

XC6405D
[VvD , VIN

VIN|

100k @

100k @

XC6405E

VIN]

XC6405F
[VD

CIN=1F
( )

VIN| ¢

100k Q

[VD , VRouTt ]

VIN

100k Q

[VD , VRouTt ]

100k @

VDS
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XC6405

XC6405A~C

[VD , VIN ] [VD , VRouTt ]

VIN

XC6405D

[VD , VIN ]

VIN]| VIN

XC6405E

VIN

XC6405F

[VD , VIN ] [VD , VRouT ]

CiN=1pF
( )

CiN=1pF
( )

VIN|

"

TOIREX
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XC6405

XC6405F
[VD , VIN ]
CiN=1pF
( )
VIN
M
J
-
[VD , VIN ]

VIN]
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XC6405

Optional:
HIGH Active with Pull-Down R
HIGH Active with No Pull-Down R

LOW Active with Pull-Up R _?_ VIN
FF 5
LOW Active with No Pull-Up R toggle Optional;
EN — VR circuit / VIN SENSE
VROUT SENSE
E
I
»— | VROUT
Error Amp. R2
- CrB L
Optional > T bt
(B Series) < Voltage R1
Reference
VDoUT [
R4
Optional: VD Comp. R3 1 Vss
Detect H - r
Detect L
XC6405A B
H] VIN
ON/OF VR circuit (C Series) Optional:
EN/CE [ each circuit (D Series) / \nﬁ SENSE
> - VROUT SENSE
Optional: ,_[]
HIGH Active with Pull-Down R VROUT
HIGH Active with No Pull-Down R Error Amp. R2
. . ) crB8 T
LOW Active with Pull-Up R
LOW Active with No Pull-Up R R1%
‘
VDouTt
Optional: R3
Detect H VD Comp. Py [ vss
Detect L 7T I]:I
XC6405C D

TOIREX
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XC6405

22/55

VIN
VSEN []7
Limit
] VRouT
Error Amp. R2
crB [
"
Reference
VDouT Ra
R3
Optional:

I

Detect H

[Ij Vss
Detect L

XC6405E

VIN
Optional:
| — | vinsENSE
4 VROUT SENSE

Rdelay% Limit
Error Amp. R2

Rdelay []—0 cral

| VRoUT

VDouT

Optional: —
Detect H 77T Llj vss
Detect L

XC6405F




XC6405

>
XC6405 VRout R1 R2
VRouTt PchMOS VRout
EN CE
< >
XC6405 VRouTt VIN VSEN R3 R4
VD
VDout H L VD
VDouTt N-ch 220 Q
VD 105
VDout
XC6405A VDouTt VD
VROUT VDout
XC6405F Cdelay Cd VDout
Rdelay 500kQTYP. Cd
Cd
Delay Time = Cdelay x Rdelay x 0.7
Rdelay 1 300 ~ 700kQ TYP : 500kQ
Cdelay DELAY TIME (TYP.) DELAY TIME (TYP.)
0.01pF 3.5 msec 2.1~4.9 msec
0.022pF 7.7 msec 4.62 ~ 10.8 msec
0.047aF 16.5 msec 9.87 ~ 23.0 msec
0.1pF 35 msec 21.0 ~ 49.0 msec
0.22F 77 msec 46.2 ~ 108.0 msec
0.47aF 165 msec 98.7 ~ 230.0 msec
1uF 350 msec 210.0 ~ 490.0 msec
< ESR >
XC6405 ESR IC
CL VRout Vss
CL 1pF VIN
Vss CIN 1pF
VROUT 0.9 ~1.2Vv 1.3~1.7V 1.8~5.1vV
CL 4.7F 2.2F 1.0uF
< >
XC6405
50mA

TOIREX
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XC6405

|
<EN/CE >
XC6405A C EN VR VRouTt
R1,R2 Vss
XC6405D CE IC OMA TYP.
VD VD Detect L
=VIN =Pull up
Pull up VRouT VDourt
XC6405A D XC6405 E K XC6405A D XC6405 R U
L EN CE
EN/CE - A-D)
XC6405*A~D High Active  Pull-Down
XC6405 * E ~ K High Active Pull-Down
XC6405*L~P Low Active Pull-Up
XC6405*R ~ U Low Active Pull-Up
EN CE VIN Vss EN CE
IC
< >
XC6405 ON/OFF
EN EN EN L EN
ON OFF EN 500nsec EN
500nsec
EN RC
XC6405 FF
IC IC 1 FF

)
500nsec
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XC6405

[ |
< >
XC6405 T-FF T
IC VIN 1 IC VIN
VRouTt
VD
T-FF VR OFF VR
VIN T-FF VR
T-FF
1 IC VD IC 1
T-FF VIN
VRouT T-FF VR OFF
(VIN or VRouT )
e A
o | P
toggle FF ' L] VIN
ON/OFF VR circuit :
EN [ Ta—
T-FF
C
et .
B = Optional
Optional ’ Error Amp. crg L ro out
[ P— 1 powerON I R1 % E‘
Clear for FF
VDouTt [ R4
7
R3
VD Comp. r1Vss
' i
XC6405B
TOIREX
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XC6405

(VD SENSE =VIN

(VD SENSE =VRout

|
VD T-FF (VD SENSE=ViN )
ié\ —
..... - T B
{..E,..}.VROUT : J : |
o Vss T H ! | l |
1 1l ! |
VIN  cessscccccccececey
e
7
(
s §§
e\D 1Shot T-FF
..... 42v IK
Aoy % S
Vss
e VROUT lavad %i lU.Sec 2i0u'sec
{ Ejevrout | ﬁ_ |
) | H ! Tl
L " ! i
...... VIN  eeemmeemeeneee 1
Vss |
ChreT-£E §§ ”|
7 1Shot )
...... Pull-up, «
F;@vDOUT
- §§
e\D 1Shot T-FF
A a2v /
;@VIN
..... 4 s g\/
20psec Jisec
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XC6405

DC

CIN

VIN

Vss
CL

TOIREX
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VR

VRouT (V)

VRout (V)

VRout (V)

2.5

2.0

15

1.0

0.5

0.0

3.0

2.5

2.0

15

1.0

0.5

0.0

4.0

3.5

3.0

2.5

2.0

15

1.0

0.5

0.0

VR
XC6405 (VR:1.8vV )
VIN=3.8V
CIN=1.01F( ), CL=1.0juF( )
—1— Topr= 2§ !
-—-F- Topr=-4 I‘ :
~ 7| Topr= 8§ 2
100 200 300 400 500 600 700
IRouT (MmA)
XC6405 (VR:25V )
ViN=4.5V
CiN=1.0paF( ), CL=1.0uF( )
e
——t Todr— 25 L
H 1 N
-——t- Topr=- 49 /// :
— " Topr=_85 A

\\

A
/
~

—

100 200 300 400 500 600 700
IRouTt (MA)
XC6405 (VR:3.0v )
VIN=5.0V
CiN=1.0pF( ), CL=1.0uF( )
=1 I 1
—1— Topr= 2§ !
-—-F- Topr=-4( J
o 7.
— |~ Topr=_8§ -
P
///(
%
e
//
1

100 200 300 400 500 600 700

IRouTt (MA)

VRouT (V)

VRout (V)

VRouT (V)

25

2.0

15

1.0

0.5

0.0

3.0

25

2.0

15

1.0

0.5

0.0

4.0

35

3.0

25

2.0

15

1.0

0.5

0.0

XC6405 (VR:1.8V )

Cn=1.0uF( ), CL=1.0pF(

)

VIN= 3.8V

----|VIN=2.1vV
T~ 1 VIN=§.0V

XC6405

200 300 400 500 600
IRout (MA)

(VR:2.5V )

Cn=1.0uF( ), CL=1.0pF(

700

)

N
VINGASV| N |L //
VIN=2 8V ,'~

VIN=6.0V| -

XC6405

200 300 400 500 600
IRouT (MA)

(VR:3.0V )

CiN=1.0pF( ), CL=1.0paF(

700

]

L

. —T— VIN=5.0V

---1- VIN=6.0V,

200 300 400 500 600
IRout (MA)

700




XC6405

VRouT (V)

VR VR
XC6405 (VR:5.0v )
VIN=6.0V
6.0 CIN=1.0puF( ) CL=1.0pF( )
5.0 -+ -
— ToprfF 25 ,I,'
4.0 ----1 ToprF-40 J
~ 77 ToprF 85 //,,r'
3.0 =
// 7
2.0 <
Y/
// -
P2
1.0 p -
/, 4
00 X
0 100 200 300 400 500 600 700
IRouT (MA)
XC6405 (VR:0.9vV )
VIN=2.9V
15 CiN=1.0pF( ), CL=4.7aF(
—— |Topr=| 25
1.2 —|-——- |Topr=[- 40
S T—"[Topr=| 85
,_
3 0.9
g o =
> \ll
Py
s
0.6 =
-
P
"~
0.3 55—
z~
v
0.0 e

0

100 200 300 400 500 600 700

IRouT (MA)

VRouT (V)

VRout (V)

6.0

5.0

4.0

3.0

2.0

1.0

0.0

15

1.2

0.9

0.6

0.3

0.0

XC6405 (VR:5.0V )
CN=1.0UF( ), CL=1.0pF(
—— VIN=6.0 /

-

0 100 200 300 400

XC6405

Cin=1.0pF(

IRouTt (MA)

(VR:0

R\

)

), CL=4.7uF(

500 600 700

—t— v

= 2.0

P

---F- VIN=2.9

— VIN=6.0

0 100 200 300 400 500 600 700

IRouT (MmA)

TOIREX
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XC6405

|
2 VR
XC6405 (VR:0.9v )
Topr=25
15 CIN=1.01F( ), CL=4.7TuF(
TOUT=UmA
13 1mA
S 30mA
E 100mA
08: 11 A
5 A
0.9 //// \\/Tf
AR Al
os LL | | [
0.5 1.0 15 2.0 2.5
VIN (V)
XC6405 (VR:1.8vV )
Topr=25
20 CIN=1.01F( ), CL=1.0uF(
. 1.8
b
=
3 16
gt
>
IOYT=0npA
1.4 1|E
30
/ 100mA
1.2 /
10 [
1.3 1.8 2.3
VIN (V)
XC6405 (VR:25V )
Topr=25
27 CiN=1.0pF( ), CL=1.0F( )
25
>
=
3 23
g 2
>
IOUTFOmMA
2.1 l
O:I
100mA
1.9
1.7
2.0 2.5 3.0
VIN (V)
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VRouT (V)

VRout (V)

VRouT (V)

XC6405 (VR:0.9vV )
Topr=25
CiIN=1.0p4 F( ), CL=4.7F( )
1.00 -
IOUT=pmA
0.80 LmA
3pmA
TOPmMA
0.60
2.0 3.0 4.0 5.0 6.0
VIN (V)
XC6405 (VR:1.8vV )
Topr=25
CIN=1.0pa F( ), CL=1.0uF( )
1.90 - -
1.85
1.80
175 TOUT=UMA
1mA
30MA
L.70 TOOTA
1.65
3.0 35 4.0 4.5 5.0 55 6.0
VIN (V)
XC6405 (VR:2.5V )
Topr=25
CiN=1.0F( ), CL=1.0pF( )
2.60
2.55
2.50
[OUT=0mA
245 1mA
30mA
100mA
2.40
3.0 35 4.0 45 5.0 55 6.0

VIN (V)




XC6405

VR
XC6405 (VR:3.0V )
Topr=25
3.2 CIN=1.01F( ), CL=1.0pF( )
_. 3.0
b
=
3
& 28
> LITEQmA
26 1A
' BOmA
1PUI
2.4
2.2
2.5 3.0 35
VIN (V)
XC6405 (VR:5.0V )
Topr=25
CIN=1.01F( ), CL=1.0pF( )
5.2
__ 50
b
=
S 48
n>: IDUTF0NA
1mA
4.6 IO:‘.“
100mA4
4.4
4.2

4.5

5.0 55
VIN (V)

VRouT (V)

VRouT (V)

XC6405 (VR:3.0v )
Topr=25
CiN=1.0pF( ), CL=1.0pF( )
3.10
3.05
3.00
205 IOYT=0mA
1ImA
SO0MA
2.90 100mA
2.85
4.0 4.5 5.0 55 6.0
VIN (V)
XC6405 (VR:5.0v )
Topr=25
CiN=1.0pF( ), CL=1.0pF( )
5.10 = =
5.05
5.00
=
4.95 1OUT=0mA.
1mA
30mA
4.90 TOOMA
4.85
52 53 54 55 56 57 58 59 6.0

VIN (V)

TOIREX
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XC6405

|
3 VR
XC6405 (VR:0.9V ) XC6405 (VR:1.8V )
16 Cin=1.0F( ), CL=4.7F( ) 1 CiN=1.0paF( ), CL=1.0paF( )
S 14 ppr="85 S 08 Tdpr= 85
5 25 e 25
~ 12 - 40 > 06 -40
1 0.4 /
0.8 0.2
0.6 0
0 50 100 150 200 0 50 100 150 200
VR IRouT (MA) VR IRouT (MA)
XC6405 (VR:25V ) XC6405 (VR:3.0V )
1 CIN=1.0paF( ), CL=1.0pa F( ) 1 Cin=1.0pF( ), CL=1.0paF( )
< ~08
S 08 Topr= 85 S Tppr= 85
-2>§ 25 = 25
0.6 - 40 > 0.6 - 40

0.4 / 0:4
7 //

0.2 0.2
0 0
0 50 100 150 200 0 50 100 150 200
VR IRouT (MA) VR IRouT (MA)
XC6405 (VR:5.0V )
1 CiN=1.0pF( ), CL=1.0pF( )
—~ 038
2
%
> 06
fopr= 85
25
0.4 =40
> //
0
0 50 100 150 200

VR IRouT (MA)
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XC6405 (VR:0.9v )
120 CIN=1.0paF( ), CL=4. 7 F( )
100
2 /
2 80 |
3 / = |
60 //
Topr= |85
40 P i
]
20
0
0.0 1.0 2.0 3.0 4.0 5.0 6.0
VIN (V)
XC6405 (VR:25V )
120 CiIN=1.0pF( ), CL=1.0paF( )
00
< I
31 |
~ 80
[}
8 /
60 /
// Topr= 85
40 25
// -40
20
0
0.0 1.0 2.0 3.0 4.0 5.0 6.0
VIN (V)
XC6405 (VR:5.0v )
120 CiIN=1.0pF( ), CL=1.0paF( )
100 |
— —
g ]
= 80 A
4 —

20

Topr= |85

0.0 1.0 2.0 3.0 4.0 5.0 6.0
VIN (V)

XC6405 (VR:1.8V )

Cn=1.0uF( ), Ci=10pF( )

120
100
— |_—
< |_——
2 8 — |
2 )7
1)
60
// Toprf 85
40 25
/ - 40
) /
0
0.0 1.0 2.0 3.0 4.0 5.0 6.0
VIN (V)
XC6405 (VR:3.0v )
120 CiNn=1.0p1F( ), CL=1.0pF( )
100
—
< ] —
3 80
9]
2}
60
/ Topr=| 85
40 55
/// 40
20
0 /

0.0

1.0

2.0 3.0 4.0 5.0 6.0
VIN (V)
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XC6405

||
5 VR
XC6405 (VR:0.9V ) XC6403 (VR:1.8V )
ViN=2.0V ViN=2.8V
Cn=1.0pF( ), CL=4.7TpF( ) Cn=1.0pF( ), CL=LOpF( )
1.10 2.00
1.95
100
S S 190
5 5
o o 185
S 090 3
> > 1.80
0.80 IOUT=01A 175 ———1
=30 oUT=0njA
- 1.70
0.70 =100mA =30MA
1.65 =100A1A
0.60 1.60
-0 -25 0 25 50 75 100 50  -25 0 25 50 75 100
Topr () Topr ()
XC6405 (VR:2.5v ) XC6405 (VR:3.0V )
ViN=3.5V VIN=4.0V
Cn=LOWF( ) CELOWFC ) CN=1OpF( ), C=LOpF( )
270
3.20
2.65 3.15
IOUT=0rhA bur-onh
S 260 =30TA S 310 _gomA
E =100A E o
2 255 2 3.05 =100n
: -
2,50 3.00
= =
2.45 2.95
2.40 2.90
235 2.85
530 2.80
50 o5 0 s 50 75 100 50 25 0 25 50 75 100
Topr () Topr ()
XC6405 (VR:5.0V )
VIN=6.0V
Cn=1.0pF( ), CL=LOpF( )
5.20 - -
5.15
_ IOUT=0mA
2 510 =30MA
= -
3 5.05 F100mA
o
>
5.00
— —
495 ——
4.90
4.85
4.80
50 25 0 25 50 75 100
Topr ()
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Iss (A)

XC6405 (VR:0.9V )
VIN=2.0V
100 110
90
<
80 2 90
[}
! e £ | @
70 —
60 70
50
40 50
50 -25 0 25 50 75 100
Topr ()
XC6405 (VR:25V )
VIN=3.5V
110 110
< <
3 9% —— 3 90
g -1 | B 4
70 70
50 50
50 25 0 25 50 75 100
Topr ()
XC6405 (VR:5.0V )
VIN=6.0V
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